Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-VI « EXAMINATION — SUMMER -+ 2014

Subject Code: 362403 Date: 28-05-2014
Subject Name: Microcontroller and Microprocessor
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Q.1 (a) List specifications of 8051. And give any two points in comparison
between microprocessor and microcontroller.
(b) Draw pin diagram of 8051. Show each pin name & no. in diagram.

Q.2 (a) Draw the 128 bytes RAM organization of 8051 and write the address
range and function of each part.
(b) Explain any two Bit level instructions with example
OR
(b) List logical instruction and explain any two in detail with example.

Q.3 (a) Draw program status word register of 8051. And state function of any four bit
of it with example.
(b) List addressing modes of 8051. Give functions of indirect and direct addressing
mode with example.
OR
Q.3 (a) List registers are affected upon reset. Also Write status of various register on
reset.
(b) List addressing modes of 8051. Give functions of register and index
addressing mode with example.

Q.4 (a) Draw the format of TCON register and give function of any four bit of
TCON register.
(b)  Write a program to multiply data of R, and Rz and store answer in Rs
(MSB) and Rg (LSB). assume data in R, = 88H and R; =99H
OR
Q.4 (a) Explain PUSH and POP instruction with help of example and also show stack
address.
(b) Write a program to add two 16 bit numbers. The numbers 8FB7h and
9A76h. Place the sum in R; and R,. R; should have the lower byte.

Q.5 (a) Write a program to complement ACC 450 times.
(b) Write a program to find no of 1’s from the data stored in register Rs and store
result in Re.
OR
Q.5 (a) Al kHz square-wave signal of 50% duty cycle is to be generated from
pin 7 on port 1. The microcontroller clock frequency is 11.0592 MHz.
(1) Determine the required delay time. (2) Using timer 0 determine the base
numbers that must go into TH, and TL,.
(b) Write a suitable assembly program for 1 kHz square-wave signal of 50% duty
cycle problem in above question 5(a).
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